B.COM. : SEM - 1: DSE - 1: Computer Application in Business

Sr. :
No. Question Bank
1 CPU is a processor made up of the ALU and
5 UNIVAC and ENIAC computers are example of generation computing
devices.
3 Which characteristic is suitable for computer for the statement - Unlike human
being a computer free from monotony, tiredness and lack of communication?
4 Which characteristic presents in the statement - Computer can perform various
types of task at a time without any single error.
5 Nowadays, High-performance computer systems are widely used
in business, engineering, in manufacturing and even at home.
6 India had developed the PARAM-10000 super computer in the year
7 Storage does not lose the data when the device is powered down.
8 | ASCII Stands for .
9 generally used to hold the program being currently executed in the
computer.
10 | Full form of RAM
11 | Full form of EPROM
12 | In Computer terminology ‘CAD’ is stands for
13 | Which of the following is used in First generation computer ?
14 | Microprocessor was introduced in which generation?
15 | Full form of MICR
16 | Which of the following is a Non-impact Printer ?
17 | Full form of LCD
18 | Full form of CRT
19 | Which of the following is not an output device?
20 | Tiny nozzles of printer head is called
21 | Pixel stands for
22 | The output quality of a printer is measured by
23 | Printing Speed can be measured in
24 | Which input device is used to read the BAR CODE?




Which input device is basically used by banks to provide facility in the processing

25 of cheque?

26 | Which device we need to edit text that has been read by scanner?

27 Which device is widely used to evaluate the multiple choice questions in
education examination assessments, recruitment process or in voting system?

28 | Which is a primary input device of computer?

29 | The most commonly used layout for keyboard is

30 | Which printer provides resolution from 300 to 1200 DPI.

31 printers do not make contact with paper to produce text and graphics on
paper.

32 | What is Binary equivalent to Decimal 19 ?

33 | What is Octal equivalent to Binary 1111 ?

34 | What is Hexadecimal equivalent to Decimal 271 ?

35 | What is Decimal equivalent to Binary 10011 ?

36 | What is Hexadecimal equivalent to Binary 10011 ?

37 The is a vast network of networks that electronically connects millions of
people worldwide.

38 service has many similarities with the postal mail service all of us are
familiar with.

39 | Full form of VoIP

40 | 204.115.34.10 is an example of address.

41 | Full form of FTP

42 The translates the dotted quad IP Address into easily recognizable server
names.

43 | Which of the following is not a Web Browser ?

44 A direct, or dedicated connection of LAN to internet is made through a special
hardware component called

45 | Every website on the internet would be given an




